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SN 2L
B ROIAYEZ
CHol: PP AY ol me)
M- B SR(B) - HRAY - BE S Ak e 2
401 A&l | 8,250
Al 4,125
2 4,125
01 A&l 16,500 0 16,500
os+
16,500, 000& 16,500
| 8,250
Al 4,125
i 4,125
405 &t 20,000 0 20,000
Il 10,000
Al 5,000
= 5,000
01 Xt 20,000 0 20,000
(©nE=; Jlel 1058(2& 29%9)
20,000,000 20,000
Il 10,000
Al 5,000
i 5,000
A B2AHAY 208,090 194,600 13,490
| 76,250
Al 86,061
= 45,779
FMUEBAHEH 22 152,500 150,000 2,500
| 76,250
Al 38,125
= 38,125
307 o 152,500 150,000 2,500
| 76,250
Al 38,125
= 38,125
05 QIZtREZ 152,500 150,000 2,500
OFAMEHHH 2H 152,500, 000& 152,500
Il 76,250
Al 38,125
i 38,125
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(=

chel:

TEE
A AR
HE . O (BH) - NRAY - BYS Ak e 2
AMNI=HAE 23 55,590 44,600 10,990
Al 47,936
= 7,654
gI2tol ™ 55,590 44,600 10,990
Al 47,936
i 7,654
QIRtRE 3 55,590 0 55,590
OAI=EHAIE 2 & 55,590
Al 47,936
i 7,654
HEAAY 90,292 151,935 261,643
= 3,061
| 21,733
Al 35,249
= 30,249
AEHAY 4,635 5,249 AB14
| 2,317
Al 1,159
= 1,159
QI2toI A 4,635 5,249 2614
| 2,317
Al 1,159
= 1,159
g2 ZH| 4,635 5,249 A614
SIS ES 4,635,000& 4,635
Il 2,317
Al 1,159
i 1,159
KA A2 242 ZALAE 38,832 32,400 6,432
| 19,416
Al 9,708
= 9,708
gI2tol A 38,832 32,400 6,432
| 19,416
Al 9,708
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SN 2L
B D0IAYEH
el XA AAIY (sl &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Ottt 222 23 JHARA =l
5,000& *30Z 23| 300
Al 150
o 150
OYR2H2AT s FAI B4
20,0003 x10¥ *13] 200
Al 100
2 100
Ottt 42 &0 Adl24
10,0003 *10H »7 & *43| 2,800
Al 1,400
o 1,400
307 glz2told 14,700 14,700 0
Al 7,350
2 7,350
01 Az F=H| 14,700 14,700 0
OStYEHAIY &4EZ 2| 7,000& 2,100 14,700
Al 7,350
i 7,350
XH&aEHEH 22 5,000 0 5,000
Al 5,000
201 et 2,000 0 2,000
Al 2,000
01 At 2eld] 2,000 0 2,000
CEEIESEY 2,000
Oxls=2s M 1,000& *2,000% 2,000
Al 2,000
307 glz2told 3,000 0 3,000
Al 3,000
01 Az =4l 3,000 0 3,000
oodzss5+< 2,000,000& 2,000
Al 2,000
OXIH& & XISHIX& 100,000& 10 1,000
Al 1,000
HEEHAS 262,014 148,893 113,121
| 118,507
Al 71,753
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T b
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L pal

il

M- B8 S2(3H) - HRAY - BaS

22
J2

20
B
2

2 ALY 2 71,754
TS el A 8,648 8,648
g 4,324
Al 2,162
2 2,162
301 YerEa3 1,500 1,500
g 750
Al 375
2 375
10 BAMHIE &S 1,500 1,500
OSALA SAR AUl
10,0002 *10% *153] 1,500
p] 750
Al 375
2 375
COAEIEIES 7,148 7,148
g 3,574
Al 1,787
2 1,787
NEEEEEELI 7,148 7,148
OYUST} AZ Y ARE Y
89,3502 +80% 7,148
p] 3,574
Al 1,787
= 1,787
RIS A S| 5 & T & ALY 42,088 42,088
g 21,044
Al 10,522
2 10,522
101 o121 19,834 19,834
g 9,918
Al 4,958
2 4,958
10 JRIN2ENSE+ 19,834 19,834
ONAABI S & THE AL 19,834
0Jle3 42,3002 12 %2552 10,787
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chel:

CEE (S - MRAY - HAS

22
J2

] 5,394
Al 2,607
2 2,696
OsY+g 42,3009 12 %1102 4,653
g 2,327
Al 1,163
2 1,163
Onst| 5,0008! * 1% x2552! 1,275
p 637
Al 319
2 319
SEET 5,0008! * 1% x2552! 1,275
g 637
Al 319
2 319
O & EIH| 400,000%! * 1% 23] 800
p 400
Al 200
2 200
SLEEN= 42,3009 12 +202 846
g 423
Al 211
2 212
OXe B 198,000+ 1% 198
g 100
Al 49
2 49
ypt2 | 14,688
| 7,344
Al 3,672
2 3,672
NEEER 9,288
Yt 2| 3,388
Oms Mx F= 1,888
g 944
Al 472
2 472
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SN 2L
Zu: ZoAREA
CHel 2B (cHol & @
SN HB SR (BIH) - A - B S 0l &b S D=2
- o T - = S = &= 0:”/&,% WS
OEZNHEES HEH 1,200 7505 900
| 450
Al 225
o 225
ONMEEZzd 2IAL2E 60,000 10 600
| 300
Al 150
fiis 150
OfIEu=Hl 500
OMEAMNE Z20d = 250,000& »2& 500
J| 250
Al 125
i 125
o244 1,100
ONME Z=20d ZAsY 100,000& *113] 1,100
| 550
Al 275
i 275
ogxtz 4,300
OMELEZ &t 430,000& = 1CH+10& 4,300
| 2,150
Al 1,075
fia 1,075
02 23244l 1,700 0 1,700
OXt&d et| 1,700
OMegzitzs Sl 170,000& 103 1,700
| 850
Al 425
s 425
03 EAI2ZH| 3,700 0 3,700
OZMALAI S =& 700,000& 33| 2,100
| 1,050
Al 525
i 525
OZOH QI 28 Tl 2! 800,000& 23| 1,600
| 800
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SN 2L
By POIAYSH
o9 B2 HAAY (Et9): & 2
SN -EHH . (B) - MPAY - BE2 0 Ak o4 e HRE2
Al 400
i 400
202 OdHl 546 0 546
Il 272
Al 137
= 137
01 =Uhoit] 546 0 546
OMEAMNS2H WSEA 273,000& 23] 546
Il 272
Al 137
s 137
301 Lptsazg 2,020 0 2,020
Il 1,010
Al 505
= 505
10 BAIAHIENS 2,020 0 2,020
OXt23le BT B4 20,0002 *1523 300
Il 150
Al 75
i 75
OME TRIY AKX 24
5,000& *20H *62] 600
Il 300
Al 150
2 150
OFAHE DA TESAR Abl2a
10,0003 14 »83] 1,120
Il 560
Al 280
2 280
307 glz2told 4,000 0 4,000
Il 2,000
Al 1,000
= 1,000
SREEEEET] 4,000 0 4,000
OTMBAALSHAT %EDY
500, 0002 23] 1,000

_31_




SA
X XH .
(=

chel:

M-8 SRI(310) - MRAY - BeS sl e HlRE2
J| 500
Al 250
i 250
OMESMBL2UHAL oS HIXA
300,000 *10H 3,000
J| 1,500
Al 750
s 750
405 XtobESHI 1,000 0 1,000
Il 500
Al 250
i 250
01 XA ESEH=HI 1,000 0 1,000
onEIE =7 500,00021x2 % 1,000
p) 500
Al 250
i 250
UEY L2EHAS 186,278 121,893 64,385
Il 93,139
Al 46,569
= 46,570
101 el2H] 178,514 116,639 61,875
Jl 89,257
Al 44,629
= 44,628
10 JIZtNZ2Z2NSEs 178,514 116,639 61,875
oweHAA ol 78,199
OoJl=s 42,3003 x9H «255 97,079
Il 48,540
Al 24,270
s 24,269
Osg=d 42,3003 x9F «110 41,877
Il 20,938
Al 10,470
[ia 10,469
OunsH| 5,000& x9H «255¢ 11,475
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D 20ALSH
Sl B2 2AAY Rk
- — _ XN H
SH-EH . C(BH) - NRAY - BES Off &F oA Oflﬂg; bRz
5] 5,738
Al 2,868
2 2,869
SEE 5,000 *9F *2552 11,475
| 5,738
Al 2,868
2 2,869
ONzag 2,880
N 40,0002 +3% * 128 1,440
| 720
Al 360
= 360
L EHS 20,0002 62 122 1,440
| 720
Al 360
2 360
OI=F-ES/T:] 400,000 +9% +23] 7,200
| 3,600
Al 1,800
2 1,800
Oslz+g 42,3009 +6 % +202 5,076
| 2,538
Al 1,269
2 1,269
OLeEH DS oY 63, 16021 +9 x23| 1,137
| 568
Al 285
2 284
o= 315
ogezAR 35,0002 +9% 315
| 157
Al 79
2 79
201 Ysregy) 6,034 3,524 2,510
o 3,017
Al 1,508
2 1,509

_33_




od
’J
oF
oJ

KJ 3D
Ko <
~0 i)
<4 & H
) ol H
H Mt 10

=

24
Jé‘lil—l
chel:

e

n0

KIo

Bl w

2,510

2,000

H3r
uiled!
pak=

3,524

530

530

1,200

1,200

27,000

=
o

s

<J

6,034
6,034
3,000
1,500
750
750

Il
Al

H

2,924
1,462
731
731

Il
Al

H

110
55
27
28

530

265

132

Il
Al
Il
Al

133
530

H

530
265
132

)
Al

133

H

1,200

600
300

Jl
Al

300
1,200

rt

1,200
600
300
300

Il
Al

H

25,000

1,500, 000& »2H

o

o

[uind

2l x9

e

324,880

110,000& 1

202 044

530,000&

=0

01

no
<0
T
J

oll

301

2

10,0003 *30L 4

ol

N
H
O
10

12,500

Al
- 34 -




SA
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chel: 2 Al (chel: & 2
ZE - (BH) - NRAY - BaS sl e HlRE2
FE2AAME i 12,500
2R A 20,873 12,162 8,711
Al 10,436
= 10,437
AtS 2teltl 14,760 8,200 6,560
AX= 14,760
OYBEHAEX 410,000& »4CH =9 = 14,760
Al 7,380
fia 7,380
35234 6,113 3,962 2,151
S ETE| 6,113
oges
1536 £ x20 4 CH 9 6,113
Al 3,056
[ia 3,057
gI2tol ™ 4,127 14,838 210,71
Al 2,064
= 2,063
Sz I= 4,127 14,838 210,711
B2 2AHA =7 4,127& *1,000H 4,127
Al 2,064
i 2,063
Z2e| At 633,956 571,184 62,772
Il 316,978
Al 158,489
= 158,489
e I8 04XEEgs & 6,000 5,100 900
Il 3,000
Al 1,500
= 1,500
2| 3,680 2,400 1,280
Il 1,840
Al 920
= 920
AtS 2teltl 3,680 2,400 1,280
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SN 2L
By D0IHYEH
chel: 2L BRI ALY (el @)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0lA 111,388 109,194 2,194
| 55,694
Al 27,847
= 27,847
05 QIZtEZ 111,388 109, 194 2,194
O=3Jter ZJ1&& 111,388, 000& 111,388
Il 55,694
Al 07,847
i 27,847
& o ZHl X3AS 184,618 124,268 60,350
| 92,309
Al 46,154
= 46,155
307 giz2tol™ 184,618 124,268 60,350
| 92,309
Al 46,154
2 46,155
01 Az FZ=H| 184,618 124,268 60,350
ogxizdl XI& 184,618,000& 184,618
| 92,309
Al 46,154
o 46,155
SR A o ZHIXIJAAS 326,086 316,000 10,086
J| 163,043
Al 81,522
= 81,521
307 QI2t0IA 326,086 316,000 10,086
| 163,043
Al 81,522
= 81,521
05 QIZtREZ 326,086 0 326,086
Os|ZLXI S A=HIXIY  326,086,0008 326,086
J| 163,043
Al 81,522
o 81,521

_38_




SN 2L
U 2OAYS
CHel: ROIAYBE ALY chol & 2)
SN S(B) - NRAY - B2 Aro e =2
Sty A E AAHNF2F| 2,824 2,836 A2
J| 1,412
Al 706
= 706
201 Lt 2,824 2,836 A2
Il 1,412
Al 706
= 706
01 At 2eld] 2,824 2,836 212
CLEImEE] 2,824
OHA B X A RI2I SIS D (FITP)
1,412,000& »2H 2,824
| 1,412
Al 706
i 706
SEHME 2| ALY 699,885 634,265 65,620
= 520
| 150,223
Al 110,031
= 439,111
=IOt HEESALY 120,480 88,416 32,064
| 60,240
Al 30,120
i 30,120
307 QIZt0IA 120,480 88,416 32,064
| 60,240
Al 30,120
= 30,120
01 g2+ =dl 120,480 88,416 32,064
CESIF-P A ER E-RIT]
12,048,000& * 102 120,480
| 60,240
Al 30, 120
i 30,120
9 As AY 178,900 273,848 A94,948
101 ol t| 19,378 19,072 306
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SN 2L
B R0IAYST
CHol: X ojH 0L A (SHol:®el)
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
10 JI2ZHH 22 NSEs 19,378 19,072 306
oYL= 19,378
oA (2Y) 19,378
., == 42,3003 x2%H » 123 10,406
. Y 42,3003 x2H x50 4,992
. =l 5,000& »2ZH *123 1,230
., wSH| 5,000& x2H 123 1,230
. IEY 720
-Hi < Xt 40,000 x2H «6& 480
-& - Bl 20,0003 x2H 6 240
. BEFIHYI 400,000 x2Z 13| 800
201 B2 8,380 3,580 4,800
01 At=2teldl 580 580 0
oul =l 580
g= 55,0003 x4 H 220
Ootd st 30,000 x4 120
OCerE & H| 60,000& *4H 240
02 =324l 7,800 3,000 4,800
OAlI& &I XYl 7,800
O A A=/H| 7,800
. AHE 100, 000& = 13CH 23] 2,600
. =RE 100,000 & *13CH *23] 2,600
. S 100, 000& = 13CH 23] 2,600
206 = H| 144,842 130,946 13,896
01 &l 144,842 130,946 13,896
ogdAi= UE 76,000
ogo= 25,000& *500 £ 12,500
O=2E 25,000& *2,000 £ 50,000
Oa A 5,000& *300 £ 1,500
O"s&s #HH 60, 000& *200kg 12,000
oYL= /KR 59,342
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chel:

22
J2

20
B
2

Il 3,840
Al 1,920
= 1,920

UNE S=HESY 19,826 19,500 326
p] 9,913
Al 4,957
2 4,956

101 1Ay 19,826 19,500 326
p] 9,913
Al 4,957
= 4,956

10 JIAH2ENSES 19,826 19,500 326
ONLNE SSHE 29 19,826,000 19,826
Il 9,913
Al 4,957
z 4,956

ZOZSUREEAA 900 800 100
| 900

CONRTEICPC= 900 800 100
p] 900

12 JIEIEA2 900 800 100

OQZ2AUR LA IR

100, 0002 * 10 A *92 900
J| 900

MoIx& Xt X 2| 6,600 6,600 0
p] 3,300
Al 1,650
2 1,650

307 QI2H0|H 6,600 6,600 0
| 3,300
Al 1,650
2 1,650

SEEEEEET] 6,600 6,600 0
OO0l XX & 24| 6,600,000 6,600
J| 3,300
Al 1,650
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SN AL
& Z2UALSE
CHol: eSOl 2 B2l ALY o H gl
K- E3 .S (3H) - MBAY - B Ao gggf; HRS2
= 1,650
Y L AOoIE &EHAlCF 6,060 6,060 0
J| 3,030
Al 1,515
iy 1,515
307 QIZtolA 6,060 6,060 0
J| 3,030
Al 1,515
iy 1,515
01 =43 =H| 6,060 6,060 0
OdY TICH AlSE 632,000& 632
J| 316
Al 158
o 158
O0lol= &ICH Al<F 5,428,000& 5,428
J| 2,714
Al 1,357
o 1,357
gteolg XA 5,977 7,087 A1,110
Al 5,977
101 2l d| 5,977 7,087 A1,110
Al 5,977
10 JI2ZtHZ2E2XANSEx 5,977 7,087 A 1,110
OZ2JIws A 5,977,000& 5,977
Al 5,977
S22 = HEES 28,152 28,152 0
Al 28,152
307 QI2tolA 28,152 28,152 0
Al 28,152
01 =L R = H| 28,152 28,152 0
OQIERAUX 2= 0 28,152,000 28,152
Al 28,152
Ol = 2&E X AlHl 243 720 1,080 A 360
Al 720
301 dE8AMZ 720 1,080 A 360
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SA

Yo pRAASH
Chol: o8 0l 2 22 AN (E9): & @
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K ggaﬁ Blusz
OZBUARE 300,0008 300
OEADZADNSLDE 1,170
OEcEls 50,0008 * 10 A 500
OB+ 90,0004 #3824 A 270
ogzuzH 40,0002 <105 400
EENEE - 138,000 0 138,000
| 69,000
Al 34,500
2 34,500
307 212+0| 138,000 0 138,000
| 69,000
Al 34,500
2 34,500
01 AZLPEL] 138,000 0 138,000
ooEIIE HYE S 138,000,00084 138,000
ol 69,000
Al 34,500
2 34,500
IJEANEHS 2,676,462 4,198,107 A1,521,645
2 305,437
Al 77,660
2 2,293,365
TJ2AAE K 1,435,377 3,107,267 A 1,671,890
2 305,437
Al 76,360
2 1,053,580
HDPRANSANE 312,460 0 312,460
=2 78,312
Al 25,036
2 209, 112
401 AlZHI L2 306,510 0 306,510
2 78,312
Al 25,036
2 203, 162
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SN BAL
M ZZEANLEHE
ool RRBAAIL A (5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 Al&H] 300,000 0 300,000
O A 300,000
OHVUBAXRA OlHAS
5,000,000 *60% 300,000
2 78,312
Al 25,036
2 196,652
02 el 4,620 0 4,620
OHVLARA OIHAIS
300,000, 00024 *1.54% 4,620
03 Al&=CHY] 1,890 0 1,890
OHVBAXZA O|HAS
300,000, 00024 *0. 63% 1,890
405 THEFH S 5,950 0 5,950
01 KHAYSEF S| 5,950 0 5,950
ORI U ARBHIS 5,950
Oy 200,0002 * 1} 200
SEDY 50,0002 1} 150
OoAAHIIBLR 400,000 *4% 1,600
ORIRASHAE 1,000,0002 1,000
ooz 1,500, 0002 *17H 1,500
OOAF Bl 1,500,0002! 1,500
SEBANL UF 795,745 0 795,745
= 227,125
Al 51,324
2 517,296
401 AlSHIL 2 O] 786,045 0 786,045
= 227,125
Al 51,324
2 507,596
01 Al&H] 772,095 0 772,095
OZELAN A MEZA 772,095
O& A& | 750,000, 00021 *4.91%+60% 22,095
O A 5,000, 00021 +150% 750,000
2 227,125
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SN AL
MM DTBANLEE
o9 TREAAL WA (S5l &2
_ _ _ Muo
SN -BH - S(B) - MRAY - BES Off &F oA il i~ o Hn=2
Al 51,324
2 471,551
02 22l 9,225 0 9,225
OSEZANL MEDA
750,000, 00024 *1.23% 9,225
03 Al&SCH| 4,725 0 4,725
OSEZAXL MEBA
750,000, 0002 *0.63% 4,725
405 Xrarz S| 9,700 0 9,700
01 TMUSEBFHSY] 9,700 0 9,700
0N L AREHS 9,700
Oy 200, 00024 +8JH 1,600
ooxt 150,000% 874 1,200
OoIAGIIBR 400,000% 6 2,400
OflEMSHAE 1,000,000% 1,000
oy 500,000 174 500
OO0AIH I 3,000,000% 3,000
SUEATR A AE 37,172 0 307,172
401 AlEHIL 2] 301,222 0 321,222
01 AI&g] 314,712 0 314,712
O A& A& H I 14,712
OBMBATEL OIHAE
300,000, 000! %6. 13%+80% 14,712
O A 300,000
OSMSBATEL OIHAE
5,000,002 +60% 300,000
02 2l 4,620 0 4,620
OFMEARBA OIHAS
300,000,000 *1.54% 4,620
03 Al&SCH| 1,890 0 1,890
OSMEARBA OIHAS
300,000, 000! %0.63% 1,890
405 X SH 5,950 0 5,950
01 MMUSEBFHSY] 5,950 0 5,950
0N L AREHS 5,950
Oy 200, 00024 +1JH 200
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HAHA
ZREAANLSE
SSEHAE A
SN HH G (EH) - MBAY - BYS Ak e
O2Xt 150, 000& * 14 150
OQIAAUIIES2 Xt 400,000& x4 & 1,600
ORAAMESTHHE 1,000,000& 1,000
O 1,500, 000 * 14 1,500
OO0AsHHI Ll 1,500, 0003 =14 1,500
I L A2 1,241,085
Al 1,300
= 1,239,785
OISAHLdESW= 2,000
Al 1,300
= 700
301 YBtEa= 2,000
Al 1,300
= 700
12 JIEI2 &3 2,000
OlISUHLEAEB+u= 25,000 +72Y 1,800
Al 1,170
o 630
Ou=sZAt=g 200,000& *13] 200
Al 130
i 70
DA 2L 46,600
307 glz2told 44,100
01 AzEP2=H| 44,100
OBAASY & A2F 44,100
OMlzZ ZALE X 100,000& 65 *10S 6,000
Oustsr ZAE AlSF 9,000& 125 +60= 6,480
O2td ZAE Al 1,100& x600H 25 1,320
O HTALAISF 3,000& 1,200 x2& 7,200
O=& ZA Al 5,500& *1,40024 7,700
O AL AIS 500& =1,800A4 900
OMEE F=ADI 1503 +6,000H 900
OZazad ZAF Al 1,500 % 1,000 x3& 4,500
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SN 2L
Hu: DROAN LSS
el 22 #ENY 2 AL CORE]
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
o=3g=3 % HA 15,145
OXt= XAl 2,085
. &8H40010|5t) 65,0002 = 1CH 65
. 52(2,000ccxE 1) 572,000 =2CH 1,144
. 2F=2(1,000kg0l ol ) 28,500& *2[H 57
. 52(1,500cc0ldl) 273,000 =304 819
OZMNERES 1,050
. BHA 200,000& *23| 400
A DNE 25,0003 23| *7IH A 350
. ArS Xt 30,0003 501 23| 300
OXsiEeEz 2,170
. sasE 390,000 =1CH 390
. HEsE 160, 0003 =3CH 480
. NEEE 670,000 = 1CH 670
. NEEE 210,000& =3CH 630
O&I| t&dEH 300,000& = 12& 3,600
OsZI| o™ EH 150,000& *12& 1,800
OoZgd ol =H= 4,440
. Eda 100,000& = 12& 1,200
- raDNE 30,000& 9 A~ =12 3,240
OAlI& &8l Xlbl 11,800
OZHOIXl X2 150,000& = 12& 1,800
OBAHA A HH| =2l 10,000,000& 10,000
O X+ & Bty 34,508
Ox =S4l 26,348,000 26,348
OF =% J:IE=PN]s] 100,000 *8CH* 102 8,000
OXNSXHEAMN =5 20,0003 =8CH 160
202 Oidl 10,200 10,200 0
01 =WHbI 10,200 10,200 0
O&2 | 7,200,000& 7,200
O 220y 3,000,000 3,000
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SN BAL
HH: DZPANMEE
ol 22 I L AR (9l &2

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
203 YREIH] 5,600 5,400 200
03 AIZERYRFAY| 5,600 5,400 200
orAYLE 5,600,000% 5,600
206 THEHI 450 450 0
EET 450 450 0
OBARZ HBES 450
o32M 2,000 *1007H 200
O20M 5,002 *504 250
01 YerEAS 1,520 1,590 ATO
10 BAMHENS 1,400 1,470 ATO
OTUHACILHA ¥ Y3 HAX R
5,000 +60% 300
OYEEHADNS Y 223 FHANA
10,0002 202 23] 400
OZMNAE T2 IR & AT 24
3,000 *100% 300
OFONHE DA KR ZA KA HI 2 4
10, 000! x5 =83 400
12 JIEEN3 120 120 0
OHINUIAST BYI(SSAED)
5,008 %2+ 128 120
307 21201 120,400 66,390 £45,990
SEEEEEET] 89,500 135,640 46, 140
OXBEL 2 1,500
OzIE3tel 50,0002 * 105 500
OXDTEARZ(RAAIS) 1,000,008 1,000
oYL 2Y 24,500
O%Z(2H ool 3B3) 3,500 +7,0002 24,500
OYRBAAL 60,000
OWSMAT 92H K& 300,000 802 24,000
OLLSUATAZEE 600,000 105 +63] 36,000
CIEPVEEPIPN=E 500,0002 500
OAZXIE 2o%AE U £2F 3,000,000% 3,000
05 oItz 30,900 30,750 150
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SN BAL
MM DRYAALEE
ol 22 I L AR (5l &2

_ _ _ Muo
SN CR(EH) - NRAY - BES Arol e HRE2
OF A=A 2teltl 28,000
OFNELES 28,000,000& 28,000
Ost=std =X Esal S LSRR FE3
145,000& 20 2,900
401 AIEHIZROYI 76,500 79,000 A2,500
01 Al&HI 76,500 79,000 22,500
O2LEAHXNLUHE H=Ed S A
60,000,000& 60,000
OEAHRXA H.EFZA 1,500, 000& *6H 2~ 9,000
OEHATZA M. .E=SA
1,500,000& *57 2 7,500
405 Kt SHI 54,200 6,000 48,200
01 XA ESEFH=HI 54,200 6,000 48,200
oo R (1ESR)
16,000,000 = 1CH 16,000
OYREHAMAXZ DTS (LE)
11,000,000 = 1CH 11,000
O 222U SHI(L=2ALE)
1,000, 000& *2CH 2,000
OSUAHESHI(L2AMLE)
300, 000& »2CH 600
OELEZHII(L2ASE) 150, 000& »2CH 300
OLEIMEINXNZIN(MEXZA)
9,000, 000& = 1CH 9,000
O3J1&azI|(Z34A) 1,500, 000& = 1CH 1,500
ONHEUSFI(HLSTIANLE)
1,000,000& 1 CH 1,000
OXXHMSAH (2RAA) 500,000& 1 CH 500
OCIXIEIt0cHL2AMSE) 300, 0003 1CH 300
OLZ=M4HEHl WA 7,000
Oozd=d 1,200, 000& *5CH 6,000
OZelH 500, 000& »2CH 1,000
CHEELIEEPATTPN
250, 000& 204 5,000
SAXL & HEA 2F 277,835 269,666 8,169
201 BRI 53,635 53,466 169
01 AR 2&cldl 21,300 17,490 3,810
oget=EHl 21,300
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SN 2L
Hu: DROAN LSS
tr B2 HFXF & g2 (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OFA 22 A2E 50,0003 9K A 63| 2,700
ORoHAAH 18,600
. BAXL 150,000 & *9I4 A *12& 16,200
. BHEZEA 100, 0003 *20 A x 12 2,400
02 =229l 32,335 35,976 A 3,641
O332=2Z A 1,760
O&EI|tEZ AL 1,760
. FESEAN L 80,000& *12& 960
. BAXL 50,0003 *22| *8IH A 800
©ftak=2:] 23,175
O&xH42(UE) 174,000& 9 A~ x5 7,830
Odtad=z 80,000 x90 A x5 3,600
OMHEE IS 261,000 904 2 x5 11,745
OAI & EHIS XL 7,400
OXI ot & | 2,000,000& 2,000
O Z & HI 200, 0003 *3Z*90 & 5,400
307 QI2+0|H 207,700 216,200 A8,500
01 dz2+Z4| 207,700 216,200 8,500
OEAHKX A 207,700
O gs8AE 3,650,000 *4J4 A *12& 175,200
OXAsSAS 500, 000& x4 4 2 *4 3] 8,000
(OFSE==FANr 500,000 *9JH £ *33] 13,500
OxHsLES 500,000& *4JH 2 *43] 8,000
ONsSAEEX 500, 0003 »6&f A 3,000
405 XakE S| 16,500 0 16,500
01 Xt =SFHSHI 16,500 0 16,500
OZMHNEHIN(EAN, FSRx) 500,000 =2CH 1,000
OMBUSHEA(FSX2)
1,000, 0003 = 1CH 1,000
ONFHUHZB(FSX ) 500,000 = 1CH 500
OX=AZE D] 3,000, 0002 *1CH 3,000
OYUNEZAX A MREHESRA(324) 10,500
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od
’J
oF
oJ

e

n0

KIo

Bl w

89,423
A8,577
AB,577

50,000
50,000

48,000
48,000

60,090

H3r
uiled!
pak=

33,107
33,107
33,107

342,360

=
o

s

<J

7,500

3,000

500
122,530
24,530
24,530
17,120
3,000
2,000
120

2,000
4,000
4,000
2,000

3,410

770
2,500

140
4,000
50,000
50,000

44,000

6,000
48,000
48,000
48,000

402,450

4 +30H

=

[=]

250,000

ol
%

ol
n0

1CH

[=]
[uind

50, 000& *60H
500,000& *
1,000 *3&5+1,000%
500& *45+1,000%
60,000 *20H

I(EMRIA)

=
oF
E

(5]
o
R
X0
ol

=
=]
105
Al
Al

400,000& 105

2l %
2lx1

1,000& #1,0005 *2
400,000
2,000,000

-

00
<+
30
0B

70,000 11

5

50,000& x50

n

n0
<N
E
Kq
_Lle

n0
AJ

-

00
3+

-

n0

0l
E
Tl
Al
30

i
Iy
iid
0

2]
2]

70,0003 *2
1,000, 000& *4

ol

|ls
ok
n

ol

01

o

o

[uind

2550

200,000& »30&

80,000
3,200, 000& » 1574

AHXI
AEHIL 20

Al I

01

401

pio
of

4
J

H
oD

(0

40,000
40,000

40,000
40,000
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SN 2AL
MM DEOANLEE
el 22 #ENY 2 AL CORE]
SN EHGRA(BH) - NBAY - BES Ofl &F o4 gg;ﬁ; Hms2

OUSEa2akL OHAES 40,000
(OFSEE g2 20,000, 000& 20,000
OQH| I ZE2HE 10,000, 000 %2} 20,000

405 RarFE S| 362,450 302,360 60,090

01 ML =SSHEHI 362,450 302,360 60,090
OLESEEANL ARFY 7Y 209,700
OHMlIZ i D] 4,000, 0002 *1CH 4,000
OCIXIEX-RAY 2G| 150,000, 0003 = 1CH 150,000
OHEH=3 2,000, 0002 *1CH 2,000
OXHI=LE 14,000,000 = 1CH 14,000
oslP2=E == 1,000,000 3CH 3,000
OZ2dAHE &I 300, 000& »3CH 900
oy =3 50,0002 #5CH 750
O&THM & A 100, 000& *5CH 500
OTt2tE el 15 500,000 <2CH 1,000
OZLaEXZ x=27| 2,200,000 = 1CH 2,200
(OIST=PNENE=D) 16,000, 000 *1CH 16,000
O&IIR=XZD] 5,000, 0002 *1CH 5,000
osgzs)l 1,500,000 = 1CH 1,500
OUZLED 3,000, 0002 *1CH 3,000
Ooozsal 150, 000& *2CH 300
OF=FIP) 200, 000& »2CH 400
ozdoetd 400,000& «1CH 400
LIPS 250, 00024 *1CH 250
OAEZ AL 3,500,000& = 1CH 3,500
OUHEFET 1,000,000 *1CH 1,000
OUSSHTANA HACHA Ty 2L 94,600
OMto12 1,500,000 *3TH 4,500
OclZBEMNOIZ 2,000,000 *1CH 2,000
OEdEZ 3,000,000 *3CH 9,000
OHXI Zg A 2,400,000 = 1CH 2,400
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CEE (S - MRAY - HAS

22
J2

OdldAHEMHA
OoAflEmA
OZ 2 Mo
oggs

O A

OXCH 2EA

O O
12
Jg
i
0
S

Il

Bl
=
T
0l0
I
0x

O
Hr
oY
N
to
e
x

p)

il

=yl

MXtel =021 =& 0|

O O O
o
00
o
|0
E\
9
I
0
-

e
o
pall
0
HO
0
H
il
ol
S

Oadrt
O43loa

., HAEH0IE

2,500,000 = 1CH
2,500,000 = 1CH
2,400,000 = 1CH
2,600, 0003 = 1CH
2,500,000 = 1CH
2,800,000& = 1CH
3,000, 0003 = 1CH

700,000& = 1CH
2,000,000 = 1CH
4,500,000 = 1CH
4,700,000 1CH
4,000,000 = 1CH
4,500,000 *1CH
4,500,000 = 1CH
4,500,000 *1CH

5,200,000 = 1CH

5,000, 0003 = 1CH
8,200,000 = 1CH

6,000, 000 = 1CH
4,600,000 *1H

200,000 *30H
130,000 & 304

130,000 «30H

1,000,000& 1Al E

100,000& 10K

250,000& »40H

45,0003 = 1504

2,500
2,500
2,400
2,600
2,500
2,800
3,000

700
2,000
4,500
4,700
4,000
4,500
4,500
4,500

5,200

5,000
8,200

6,000
4,600

39,650
6,000
3,900
3,900
2,000
1,000
1,000

16,750

10,000

6,750
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M2
XNZH:
(=R I o
gHel: 2

Ha . o9l(3) - HIRAY - BA2 Abon e 2
OY&n 1,500, 0003 = 1CH 1,500
OTV(OI A AFR AL 1,000, 000& =2CH 2,000
OZHI AR (UAA) 400,0003 x84 3,200
O& X220l AZZO0IC0 200,000& *2IK 400
HESEEAHRA HAEY| 18,500
OZ#&FH 1,200,000& = 1204 14,400
Ox=ZeglH 700, 000& +5CH 3,500
oA 600,000 = 1CH 600
HHSAAY (BAL) 3,877,203 3,832,945 44,258
lHESHH(EAHA) 3,476,087 3,417,401 58,686
ol 29| 3,476,087 3,417,401 58,686
ol 2| 3,317,787 3,259,841 57,946
les 1,695,371 1,665,093 30,278
o33 1,581,319
042 (A E) 60,636,000 1 60,636
053308 8) 2,961,300 x1H 12 35,536
O3 (245 2) 2,427 4002 *14H =128 407,804
ora(19ss) 2,028,500 x34H « 12 827,628
o8z (9= 1,385,900& 9 «12& 149,678
O=16=— 1,028,900 x56H x12& 61,734
OJlls8z (205 2) 1,855,600& *1H «12& 22,268
OJls9=(1083) 1,336,200@ 18+ 12& 16,035
d2s¢ 1,520,683,000& x0.9/12 114,052
=g 570,074 560,048 10,026
OAZI2A2 2 8,3123 x66% 45 A| 2+x 122 296,240
©OPI == 48,155
(@):EN; 40,0003 x66H 0. 78+ 12& 24,711
O& - Hix 20,0003 662 *1.48 *x12& 23,444
OXEHEHI BEX =G 26,688
Ounsstul 420,790 x67H %0, 2+4 3] 22,555
Osst 51,4003 67X 0. 3%4 3] 4,133
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SN 2L
B WESAAY (BAL)
Eel: ERIHI(EAHD)

S FB SR (E) - NRAY - Be S Lo S

0 &40
O = =] 70,0003 #2412 20,160
OFZ2+=EIt= 58,920
02540l & 130,000& »7H 122 10,920
020 0] &~25 0] 2t 110,000 «156E x 128 19,800
O158 0l at~20= 01 8* 80,000 x17&H + 122 16,320
O10= 01 &~15E 0] 2t 60,0002 x9H 128 6,480
O5& 0laf~10& 01 et 50,0003 x9E 123 5,400
oRIg2R+E 38, 160
o3 50,000 x54&H + 122 32,400
023 40,000 « 128 128 5,760
OJl=gR+E 9,360
O4~55 50,0002 x1& 128 600
O6~7= 30,000& 18122 6,480
0O8~95 20,0002 x5& 128 1,200
OJl=gR=4 Itit= 30,000 x3E * 122 1,080
o2HYRE 40,0003 «2E ~12& 960
OLAATR+E 30,000& x2H x 122 720
ONMARH 30,0003 x1H~123 360
oAz dR=H 37,380
Ol At 995,000& 18122 11,940
OSkA 70,0003 x 18128 840
OZtS A 50,000 x26& 122 15,600
O2 I At 50,0003 «15& «12& 9,000
olesFE=g 32,971
Ossl< 121,620& »3H « 122 4,379
OL=1 B 106, 1203 «21H « 122 26,743
O7rsl< 77,0403 x2EH x 128 1,849
03 A=A 102,960
O A ZAHI 130,000 ~66 & 128 102,960
04 WS=2 X 100,320
OusSE x| 100,320
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LIPS
HE: HNSAAY (2AL)
ol o2y (224) (e9: @8
_ _ _ N E
SAN-ZH-SA(FA) - NFAY - BES e ‘Oﬁ,‘\ja‘; HwsZ
053 140,000 * 1% 122 1,680
06-723 130, 0002 *5484 x 122 84,240
08-93 120,0002 * 102 * 122 14,400
05 YEEIH 152,069 149,476 2,593
G-I 1,520,683, 0008 *1/ 12+ 120% 152,069
06 JHAXIRH] 253,955 249,625 4,330
ORI | 1,520,683, 0008 *16. 7% 253,955
07 QIR AH| 69,569 69,022 547
© 010+ Al
1,565,284, 000! *1/ 12+ 1/30+202! *80% 69,569
08 JIEIEES 331,605 319,792 11,813
0301 71,618
OFAA A (01 2) 43,189,000 * 1% 43,189
OFYA| 4= (2t 2) 28,429,000 *12 28,429
OAZeRR4Y 7,562
OFYA R (It 2)
8,500% * 1% #45A1 2t 128 4,590
OF U= (2t )
5,503% 12 #45A1 2t 128 2,972
ONE2Y 2,400
OB Xt 40,0002 %22 122 960
OZ -tz 20,0002 6% * 122 1,440
CYIEET=ELS=" 3,367
Onsstn 4207902 284 x4 3| 3,367
CEEEEES= 1,289,0002 12 *122 15,468
omauZ Al 130, 00024 28 x 122 3,120
I IR 50,0008 %22 *122 1,200
CEELES] 6,480
OFAA A (I12) 400,000 * 12 122 4,800
OF U= (2t 2) 140,00024 *12 x 122 1,680
©01 0t Al 1,990
OF YA (01 2)
43,189,00081#1/ 12+ 1/30% 102 1,200
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SH: AL
2w (2AL)
ool o2 Yll(2AA) (9l &8
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OX YA = (2+3)
28,429,000% *1/12+1/30% 102 790
CEEEERSERT==
700,000 +26% * 122 218,400
09 PIUHA2EXZ4 41,864 40,985 879
OYAHIM Y BT E 41,864
oJlez 42,3009 124 x2552 10,787
o402 10,786,560 #1254 x4/12 3,506
SN HIFIELES
5,3102%1.5+25A1 2t 122 2,390
Ofg+g 43,8402 %1% %1102 4,823
Ot 2 | 10,786,560 *12 * 10% 1,079
OnE| 5,0002 1% %2552 1,275
SEET] 5,000% 12 %2552 1,275
Odzag 960
EDY 40,0002 12 +128 480
L EHE 20,0002 22 122 480
OY=EE It 400,0002! #1223 800
SEEINE 60,0008 * 1% +122 720
O B8E 404,516,3602 %35/1,000 14, 159
203 PRETH| 2,200 12,300 £100
IIPIEEEEEESTY 3,000 3,000 0
0L 3,000, 0002 3,000
00 FANMAREY| 2,720 2,760 A4
CEEPIEESS 40,0002 *68% 2,720
04 SHNSYLRETY| 6,480 6,540 260
ORNSYLRE 540,0002! *122 6,480
204 ML 146,100 145,260 840
IEEEEEESED 6,000 6,000 0
OAF(43) 400,0002! +12f 128 4,800
OBH(53) 10,0002+ 1%+ 122 1,200
02 =Z=XEH| 115,500 114,660 840
043 400,00021 +12 122 4,800
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HAHA
#H 22| (22 4)
ol 2| (P2 A) chol H Rl
DA - EH O (5) - HRAIY - HH2 Abon Soe HDS2
Ob5= 250,000 x1H =12& 3,000
O6= 155,000 156+ 12& 27,900
o722 140,000 *37H x12& 62,160
©8~9= 105,000& =12+ 12& 15,120
0J1=8~92 105,000& 2 x12& 2,520
SHERsESH| 24,600 24,600 0
O &=H(620l135t) 50,000& x41H = 12& 24,600
23yl (BHa) 401,116 415,544 AN 14,428
=3l 401,116 415,544 N 14,428
201 B2 210,316 217,944 AT,628
At22Zel bl 110,456 98,057 12,399
oget+=EH| 41,880
(OF 10| Falsag=:! 18,000,000& 18,000
OJIZANEEE 15,0003 66 x12& 11,880
OFMABERY 1,000,000& = 12& 12,000
ozg=+¢ 11,000
Og 50,0003 *x2H+110 11,000
O= &l 45,696
OsduaH 45,696,000 45,696
ogxts 11,880
Oduazd 11,880,000& 11,880
02 =229l 99,860 119,887 AN20,027
03323 £ HA 92,860
OZNYS BRI 500,000& x12& 6,000
Odstea 1,000,000& «12& 12,000
o3 Az 2,000,000& 2,000
O&II2 34,800
. BAHA 2,000,000& =12& 24,000
. BAXIA 100,000 = 12& *9IH & 10,800
OZAIIARZ 2,000,000& =12& 24,000
OZBSEH &AL 5,760
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SA
X XH .
(=

chel:

Ho{ A

4 T
L e CEPS
JECTCEPS

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
. =eldl 80,000& *3H A x12& 2,880
. EAIIIARZ 80,000 *3M A+ 12 2,880
OBAHAL BAXNAFHMSIMEE =S
3,000,000& 3,000
OFAI &A= 100, 000& *53| 500
OBAHA BAHXAUGERZ
400,000 122 4,800
OAl& &8l X8l 7,000
Oag Sal, Wutgr 4,000,000 4,000
OH AHZEHH| 3,000,000 3,000
202 (44l 190,800 197,600 26,800
01 =2WdbI 133,200 137,600 4,400
o2t dl 102,000,000 102,000
OssE2212 2o 100,000 26« 12& 31,200
02 EHOH| 57,600 60,000 A2,400
oOBHKXNA BAHEZA 200,000& x24H x12& 57,600
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